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Different number of events ?



Clearly smaller number
#5:Nup+Ndown

#10:Sup+Sdown

#6:Ndown+Sup
#9:Nup+Sdown
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CC04 energy distribution ?
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Line Fit for all CC04
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Low statistic#19

zero suppression ?



#46 : wrong calibration

Cut point => No large effect



Checking dst variables

30777 31540

0:CV 
1:LCV 
2:NCC 
3:CC04

4:CC04 
5:CC05 
6:CC06 
7:FBAR

8  :CBAR 
9  :IB 
10:DCV 
11:Cosmic-upper

12:Cosmic-lower 
13:BHPV 
14:newBHCV 
15:Others



DetectorBit for DCV

DCV+CC04
DCV+CC05



Return to Normal
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